Pattern

BABY COLOR

griundl

Little jacket, cap and shoes

Difficulty level:

@& &

Needles:

3.5-4.5 3.5-45

Quality:

Baby color (Griindl)
70 % acrylic,

30 % polyamide
50g/150m

Bty

i
J

3(4)x

Size:
Jacket: 56/62 (68/74)

Pattern:

Garter stitch:

in R: knit plain 1.row and return

knit round: 1rd. purl, 1rd plain alternately
stocking stitch:

in rows: 1. rd plain, return purl

in round.: knit only plain

Edge stitch:

at the start of a row slip stitch as in knit, at the
end of the row, knit plain stitch

Stitch test (stocking stitch):

24 st. x 34 rows (rounds) =10 cm x 10 cm

Instructions: (deviating information for the
larger size in brackets)

Jacket:

The jacket is knitted in one piece from top to
bottom without seams.

With round needle, cast on 54 (62) st. plus

2 edge stitches and knit purl for 4 cm (= 18 rows)
for the collar. Hereby casting on 3 st. respec-
tively at the end of the last-but-one and the
last row (= 62 (70) st.). Continue in the following
manner: 1 edge stitch, 5 M garter stitch (= left
panel with button holes, see below), 50 (58) st
stocking stitch, 5 st garter stitch (= right panel),
1 edge stitch. after 2 rows (1. row) between edge
stitches for the raglan lines mark the stitches
14. +15. (16. +17.) st., the 20. + 21. (22. + 23.) st., the
40. + 41. (46. + 47.) st, as well as the 46. + 47. (52. +
53.) M and in the following row (= 3. row) knit for

Cap: head circumference: :
38 cm-41cm (42 cm-45 cm) the raglan angle respectively before and after

Shoes: approx. 8 (9) cm foot- the marked st. 1 st. plain twisted from the cross-
length stitch (= 8 additional st. = 70 (78) st.). Repeat
these additions in each 2.row another 17 (20) x
(= 206 (238) st.). Now work one more return row
in purls and then divide the stitches for fronts,
sleeves and back as follows: 1 edge stitch, 5 st.
garter stitch, 27 (32) st. stocking stitch (= left
front), immobilise the following 42 (48) st. (= left
sleeve) and cast on 6 new st. (sleeve saddle).
Knit the next 56 (66) st. for the back in stocking
stitch, immobilise the following 42 (48) st. (= right

Consumption:

| You need approx. 150 (200) g for
the set
4 buttons approx. 15 mm @

www.gruendl.com




sleeve) and once again cast on 6 new st. Now
knit another 27 (32) st. stocking stitch and the
last 5 st. in garter stitch (= right front), 1 edge
stitch (= 134 (154) st. on the needle). Jointly fin-
ish the fronts and the back in this apportion-
ment. After 13 (15) cm (= 43 (51) row from this
apportionment knit another 9 rows in garter
stitch and then cast off the stitches straight,
hereby knitting plain stitches.

For the button holes, in the 5 panel stitches in
the 7., 25., 43. and 61. row after the edge stitch,
knit 2 st. together in plain, 1slip stitch, 2 st.
together in plain, 1st. plain. Knit the slip stitch
in plain in the return row.

For the sleeves, with the set of needles, add
another 6 st. to the immobilised 42 (48) st.
from the sleeve saddle (= 48 (54) st., spread
the stitches over the 4 needles of the set and
knit plain in rounds; beginning of the round is
the centre of the 6 sleeve saddle stitches. For
the sleeve angle, in the 3. row knit the 2. and
3. st. together in plain slip st. with the 1. needle
(= slip over 1st. in plain, knit 1 M plain, then slip
the slipped st. over the knitted st.), and knit
the second and third-last st. together in plain
with the 4. needle. Repeat this cast off in every
6.rd. for 6 (7) times (= 34 (38) st.). After 12 (14)
cm (= 40 (48) rounds), knit another 9 rounds

in garter stitch and then cast off the stitches
straight, hereby knitting plain stitches.
Completion: Sew on buttons according to
buttonholes.

Cap: (Information for larger sizes in brackets)
The cap is knitted round.

Cast on 80 (90) stitches, distribute onto

the 4 needles, and knit in garter stitch for

11 rounds.

Subsequently, continue knitting in stocking
stitch, hereby adding 10 st. evenly spread in
the 1. round. (= 90 (100) st.).

At a total height of 12 (14) cm (= 41 (47) rounds)
cast off as follows: Mark each 9. (10.) st. and
knit this stitch together in plain with the stitch
before(= 80 (90) st.) Repeat this cast off in
every 2.round until only 10 st. remain. Pull these
10 stitches together with the working yarn. Tip:
Hereby, pull the working thread through the
stitch several times so no hole remains.
Shoes:Cap: (Information for larger sizes in
brackets)

The shoes are started from the top edge.
Cast on 32 (36) st. plus 2 edge stitches and

knit 7 rows in garter stitch between the edge
stitches, beginning with a return row. Subse-
quently knit stocking stitch over all stitches
between edge stitches.

At a total height of & (7) cm (= 21(25) row), knit
one row as follows for the cord insert: 1 edge
st., 1st. plain, * 1slip stitch, knit 2 st. together in
plain, repeat from *, end with 1st. plain, 1 edge
st. Subsequently knit one more return row in
purl, also knit the slip stitches in purl.

Now, for the top of the show continue with
garter stitch over the centre 10 (12) st., immo-
bilise 12 (13) st. on both sides. After approx. 4
(5) cm (= 20 (24) rows) garter stitch, also immo-
bilise these stitches.

Now, for the sides of the shoes, initially knit
the immobilised 12 (13) of the right side in plain,
then with the working thread take up 10 (12) st
from the side edge of the top of the shoe, then
knit the 10 (12) st. of the upper side of the shoe
in plain and also take up 10 (12) M from the oth-
er edges of the top of the shoe, then knit the
12 (13) st. of the left side in plain (= 54 (62) st.).
Continue knitting in garter stitch over these
st., 1. row = return row. After 9 (11) rows, cast off
as follows for the sole of the shoe:

10. (12.) row (= 1.row):

1 edge stitch, 3 (4) st. plain, knit 2 st. together in
plain, 16 (18) st. plain, knit 2 together, slip over
in plain (= lift off 1 st. in plain, knit 1st. in plain,
pull lifted st. over knitted st.), 6 (8) st. plain, knit
2 together in plain, 16 (18) st. plain, 2 st. togeth-
er slipped in plain, 3 (4) st. plain, 1 edge stitch
(=50(58) st.)

11. (13.) row: 1 edge stitch, knit all st. in plain,
1edge stitch

12.(14.) row:

1 edge stitch, 2 (3) st. plain, knit 2 together in
plain, 16 (18) st. plain, knit 2 st. together slipped
in plain, 4 (8) st. plain, knit 2 together in plain,
16 (18) st. plain, knit 2 together slipped in plain,
2 (3) st. plain, 1 edge stitch (= 46 (54) st.)

13. (15.) row: 1 edge stitch, knit all st. in plain,
1edge stitch

14. (16.) row:

1edge stitch, 1(2) st. plain, knit 2 together in
plain, 16 (18) st. plain, knit 2 st. together slipped
in plain, 2 (4) st. plain, knit 2 together in plain,
16 (18) st. plain, knit 2 together slipped in plain,
1(2) st. plain, 1 edge stitch (= 42 (50) st.)

15. (17.) row: 1 edge stitch, knit all st. in plain,
1edge stitch

16. (18.) row:

1 edge stitch, 0 (1) st. plain, knit 2 together in
plain, 16 (18) st. plain, knit 2 st. together slipped
in plain, 0 (2) st. plain, knit 2 together in plain,
16 (18) st. plain, knit 2 together slipped in plain,
0 (1) st. plain, 1edge stitch (= 38 (46) st.)

17.(19.) row: 1 edge stitch, knit all st. in plain,
1edge stitch

only larger sizes:

20. row:

1edge stitch, 2 st. together in plain, 18 st.

plain, knit 2 st. together slipped in plain, knit

2 together in plain, 18 st. plain, knit 2 together
slipped in plain, 1 edge stitch (= 42 st.)

21. row: 1 edge stitch, knit all st. in plain, 1 edge
stitch

Subsequently, cast off the remaining 38 (42) st.
straight, hereby knitting in plain.

Knit the 2. shoe in the same manner.

Finish:

Fold the shoes in half and close the lower

sole seam as well as the rear seam as flat as
possible.

Make 2 cords and pull them through the row of
holes of the two shoes.

Cord:

finished length: approx. 40-45 cm

for the cords, cut 2 threads & approx. 2 m, fold
them in half, affix the end to e.g. a door handle
and twist a cord. Twist until the cord twists
together as soon as the tension is slightly
released. Now fold the twisted cord once more
into half, smooth it out and secure with a knot
on both ends.

Abbreviations:

1. row = row(s) facing front
2. row = return row(s)

pl = plain stitch

pu = purl stitch

st. = stitch(es)

R = row(s)

rd. = round(s)
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Size diagram (cm):
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